mudp EH-63 4o+-R R ¢
~

3ananue 1 2 3 4 5 6 7 8 Bcero

ﬂﬂﬂﬂﬂﬂ PHasi onuMnuaaa BaJIJ'll:.l

Fonfoibiey W0 bt nogpty —4 EErY

We spuntus podmmpupsbame 4 tousenyy BESH 3o el
Yr=sestitr—tepr || - 021, e
L, Ny = o4 sippha




ﬁ HII/I(I)p[f// \6,3/ 4-03 -~ Z/‘:J
Ny

MHuoronpodunbnas Bauaﬂnel ! I 4 [ 3 I 4 l 5 ’ 6 ’ 7 ’ 8 Bcero‘I

N e L 5 0 O S |

«3Be3aay
Bapuanr 72

JY
% =40 F5H15 +44 08+ 934 = 7R PE!

//Zﬂ/ N4

L =4000 1 5\: /\/L =2-Y000—= 12000 L

¥T=14=3600¢ (a0h ”WZ'U’WM{, /) %W‘ﬂ)
U= fhum=900C | A=Y

s o A’I/‘ / /

Vo= 24/ C=T U+ 555" gy AL
/

T/=10 = goor| = 2 A&/ = 6T, = 1200 A= 12000 ~3¢03

V=510=~0; \ = 00 a00= 400 => N/~ of ypr

: Uax=0AV'+ %= ¢ ult
Ombum o= e



Muoronpodunasnas
HH}KeHEepPHas oJIMMIIMaga UlndpEH-63/ 4-07-2 24
«3Be3ga»

b= [ =l = [ =07 =gy

.6 Q:iﬁ—/% ol
[

Ombim: 6= 25+4 ¢4
pahl /8

b (M~ % c@hf?j)%ﬁ:ﬁ‘—glﬁf: (24" L

R e
bl ﬁ",@ 9%;,:0,% = P05 =

Onbgm: p = 0,9#5 &,



